Magnet Advanced Algebra                                         Name _______________________________
Summer Assignment
THIS ASSIGNMENT DOES NOT ALLOW USE OF A CALCULATOR.
PART I:  REVIEW OF ALGEBRAIC TOPICS.  
1. Evaluate the following.
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2. Simplify completely.
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3. Solve the following.
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4. Solve the following formulas for the given variable.
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, solve for 
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, solve for C
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5. Factor the following.
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6. Solve by factoring.
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7. Solve the system.
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      8.  The Meredith family spent $24.50 on 3 containers of popcorn and 4 sodas at the movie theater.  A container of 
            popcorn costs $3 more than soda.  If C is the price of a container of popcorn and S is the price of soda, write a 

           system of equations that could be used to find the price of each container of popcorn and each soda.

9.  Simplify.  Assume all variables represent positive quantities and give answers in simplest radical form.
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PART II:  REVIEW OF LINEAR PROPERTIES.  
1.
Given the points (-3, -5) and (6, 1) on a line, determine ALGEBRAICALLY (SHOW ALL WORK)

a. slope of the line containing the points: 

                     slope: _______________________________
b. equation of the line which contains the two points in point-slope form: 
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point-slope form:  



c.  equation of the line which contains the two points in slope-intercept form: 
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slope-intercept form: ______________________________                                           

             d.     x-intercept:  

y-intercept:  
.

            e.  Graph the line on the grid provided.



f.  Explain, using mathematical language and
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    complete sentences, how to find the equation










    of the perpendicular line passing through the 







                              point (6, 1).
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Directions:  Complete parts a - c in the appropriate space below.  Show all work to receive full credit.
The table below represents a linear equation.  
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a.   Find the equation of the line in slope-intercept form.
b.   Find the equation of a parallel line passing through the point (3, 4).   

c.   Use the equation from part (a) to find the missing values in the table.  

	A.


	B.

	C.  First missing value.

	C.   Second missing value.
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Part III: Critical Thinking




        



The graph of
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, consisting of four line segments, is shown above.

1.  Find the y-intercept of the graph of
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2.  What is the slope of segment
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?

3.  Write the equation of the line passing through points O and A.

4.  Find 
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5.  For which values of x is
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6.  For which values of x is 
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positive?

7.  For which values of x does 
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have positive slope?

8.  Find the slope of segment
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.

9.  Write the equation of the line passing through points A and B.
This assignment is due at the beginning of the first class meeting in September 2019 and    will be graded.

SEE YOU IN SEPTEMBER!!!
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